R-discrete_compat!!4°

R-discrete_compat(A; B)
=qef ifReffect?(A)
then ifReffect?(B)
then (Reffect-x(A) = Reffect-x(B))
= (Reffect-discrete(A) = Reffect-discrete(B))
ifRinit?(B)
then (Reffect-x(A) = Rinit-x(B))
= (Reffect-discrete(A) = Rinit-discrete(B))
else True
fi
ifRinit?(A)
then ifReffect?(B)
then (Rinit-x(A) = Reffect-x(B))
= (Rinit-discrete(A) = Reflect-discrete(B))
ifRinit?(B)
then (Rinit-x(A) = Rinit-x(B)) = (Rinit-discrete(A) = Rinit-discrete(B))
else True
fi
else True
fi

clarification:

R-discrete_compat(A; B)
=q4ef ifReffect?(A)
then ifReffect?(B)
then (Reffect-x(A) = Reffect-x(B) € 1d)
= (Reffect-discrete(A) = Reffect-discrete(B) € B)
ifRinit?(B)
then (Reffect-x(A) = Rinit-x(B) € Id)
= (Reffect-discrete(A) = Rinit-discrete(B) € B)
else True
fi
ifRinit?(A)
then ifReffect?(B)
then (Rinit-x(A) = Reffect-x(B) € 1d)
= (Rinit-discrete(A) = Reffect-discrete(B) € B)
ifRinit?(B)
then (Rinit-x(A) = Rinit-x(B) € Id)
= (Rinit-discrete(A) = Rinit-discrete(B) € B)
else True
fi



else True
fi
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